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ENGLISH FOR METALLURGY AND CHEMICAL ENGINEERING
FINAL TEST

(mock test)

	Name
	
	Index no. 
	


A. CIRCLE THE CORRECT VERB FORM:

A: I think I will/am going to go to bed now. I'm feeling tired.
B: As my exams are on Friday I've decided I will/am going to go to bed earlier this week.
A: Let's see ... I am having/will have the chicken with pasta sauce I think.
B: I've told my wife I will/am going to cook a nice meal tonight to celebrate our anniversary. 
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B.  PUT THE VERBS IN BRACKETS INTO THE APPROPRIATE FUTURE FORM. 
1. The river bank is slippery. We ……………………………..………… (fall) into the water. 

2. A:The fire has gone out. –  B: So, it has! I ……………………………………… (go) and get some sticks.

3. She …………………………….. (meet) some important clients tomorrow morning.

4. “Why do you have so much food on the table?”

     “Because I ………………………………… (prepare) something special”

5. Joanna has the best grades in our school. She ………………………………… (get) the award for the    

    “academic achievements”.
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C. FILL IN THE GAPS WITH THE CORRECT RELATIVE PRONOUN OR RELATIVE ADVERB. 
1. Is this the man ……………wife won the lottery?

2. How old is the boy ………………hit you?  

3. The horse ………………won the race is black.  

4. A tennis court is a place……………… we play tennis. 
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D. FILL IN THE GAPS WITH THE CORRECT PREPOSITION IF NECESSARY: 
1. We are fed up ………………our jobs.  

2. She travels ……………… Ireland every year. 

3. He was born ……………… 15th October 1987. 

4. Who is responsible ……………… this delay? 
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E. REWRITE THE SENTENCES WITH THE SECOND CONDITIONAL.  

1. Mary has her mobile with her so she can call them. 
...............................................................................................................................................................................................................................
2. I don’t know his address. I can’t write to him.     
...............................................................................................................................................................................................................................
3. I don’t like the actors, so I won’t go to see the performance. 
...............................................................................................................................................................................................................................
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F. COMPLETE THE SENTENCES WITH THE CORRECT FORM OF THE VERB. 
1. If I ………… (be) you, I …………….(buy) that car. 

2. Please take a taxi. If you ……………….(not leave) immediately, you …………….(be) late.

3. If you ..................................................... (have) a problem, ................................. (not, hesitate) to talk  to me. 
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G. COMPLETE THE TEXT USING ONE WORD ONLY. 

I grew up in the south of Spain in a little community ............................... Estepona. I was 16 when one morning, my father told me I could drive him into a .......................................... village called Mijas, about 18 miles away, on the ................................................ that I take the car in to be serviced ............................................ a nearby garage. Having just learned to drive and ................................................ ever having the opportunity to use the car, I .................................... accepted.
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H. TRANSLATE THE FOLLOWING SENTENCES:







1.  Mrzim da radim kućne poslove!
.........................................................................................................................................................................................................................

2.  Ponosan sam na vas i vaš uspijeh. 
.........................................................................................................................................................................................................................

3.  Kad bih znao gdje je, ne bih toliko brinuo. 
.........................................................................................................................................................................................................................
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